72U —5 71 H BHEVESR (1/3)

A7 vy 7 (LA R E )

41

49

HE1IRE
oA
3 a
BARE

A7vavy7 141

89 FPEMI T I V=T T

(HIALR) 18
LRREF Y I =N 2

(B A IR ©)

FEI =R TT

(HRHR) 80
65 HEMB C

(FHEF)
FEMIS LYy 89:18  ZEEFHRI=ARZ
HiEMB C 65:62 ([FEHEI=ARZFT
EFEHEI=A"RTTFTT 80:18 ZHEFHHI= X
HFriEM B C 49:41 EEHMIZG I NV

HFEMB C

2N EEHMI TN~ v
3 EEI="R7TT
AN ZEREHR I =N

B7 w7 (ILAiis RIKEEH)

21

39

1#E
H2Re
3EA
HARE

Bvmav/

28— /L =N RPN
® (LAY ) 56
33 F#A I = SRR
(RI L) ®
86 BN = N AHE
@ (N IR — 18
14 BLRT A N AKX —R
(Fh )1 IR)
Ry I = X 2D AR 33:28 /NN = RRDEM]
B I = N R EE 86:14 HBARUAFNAZ—X
/NSE R = R R 56:18 MARIAFMAX—X
BN = N RHE=E 39:21 FI=~"RDFEH
I B = "R

2N TS I = R R DR
RE VAR VA=V S ¥ )
AN BEARYUA P AL —X



72U —4 71 H HEMESR (2/3)
C7uvz (IUH/NERIKEEE)

13 —X=NRITT
55 ) (AL 30
84 Iy I =R
@ (FER) ®
58 AL X =3 &
44 &) (BERS IR 71
32 BT VT 4 R A
(i [ %)
1R B v X =8 R 84 :13 —I=NNRTTT
23kA BIEALEE S =R % 58:32 HMMTNLVTAXRA
FiRE e BT LT 4 3R A 71:30 —R=NRTTT
ARE BrL y X =% 55:44 &I =N A

Cr7uvs I HHL v XI =R
2N EIRALER R = N R
3N EMT VT 4 R A
AN —X=RRTTT

D7 nmy 7 (BEHNREFEH)

KR I = R 2D

(ILALIL) 88
/NS =R R

(TZEE) ®
F—IL s 7R

(HE RS ) 27
KBB

(B I)

F1aE KA I = SRR 70:39  CFH/NI = SRE
FoRkE F—= T A 58:37 KBB

3e EH/N S =R 88:27 KBB
HARE KR I = S R/ AR 79:37 F—Tvr=R

D7wvvyr 1L KA I = R/
2N A=y 7 A
3L FH/NI =R
467 KBB

37



72U —4 71 H HEESR (3/3)
E7 vy 7 (¥R ERAEEE)

5 DY 4P
(HIBLEL) 21
JI#EE )L~
(7 B ®
JIAMA X
(HRRCER) 53
41 HE5G - B
(] B% )
5130 koL~ 58: 5 Ay 4HP—-X
oA JIAMA X 53:41 #{ES%G B
1 35kA HEMEG - B 53:21 By 7 4 =X
AR JIMMA X 55: 9 Jli=r>

E7uy2  1{z JIAMAX
ofr I~
3N GG - B
A BT 4 HP—X

F7nwy7 (TR #H/NARAEER)

35 EI ="K
43 (RI L) 44
LPEI =N T T
(FRAI ) @
ZINh RS =R R
39 (HiA IS 43
IHH—WE !
(AL IL)
T —/n V. GOD-DESS
(AL IL)
H1RE T—/x V GOD-DESS 58:30 [UHFHH—WE !
%Zﬁé\ EI =% 35:28 BEEI = NRT T T
% 3G E g S =82 44:41 T/ V GOD-DESS
wARS LEEI = RNRA T 5T 44:43 TV GOD-DESS
FSeE EI=1X 43:39 RN =%

Frays  1h EI=NZR
20 ZHPfRI ="
SN BEI=RRTTT
A7 F—/ V GOD-DESS [LUHi—WE !



